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1|Fnhywt Uwuk Jwsmquith 6-2 1311l
2|Snpnqyuit Lunwjh Swhkuh 6-2 12]111
3|Unuuhpyut Luk Unup 6-3 13(11
4(FEnudjut nphpun Uwdybh 7-2 15.5]! 36M | 14.5(1
5| Quuwpyut Zuyly Updkuh 7-2 36M | 55
6|Ungnidutyutt Upuktt Uyyupunwljh 7-4 15|
7|Zulynpjutt thinw Gnnh 7-5 141
8|Uhuntywut Uutiw Uhunuh 7-5 11.5(11
9| NMnnnujyw Ujkpu NMkwnhlh 8-5 13.75]l
10(9nhgnput Upwd @lunpgh 9-2 6.75
11|UpJuqut Gikuw Uppeniph 9-2 11.375]l1l
12(Uniphwujuts Ftwhp Uknpuljh 9-5 7.5
13|Utpnp Swipott Unipuyyuypuinh 10-4 4.75
14| UJknhywt Lhwtw Ywuwlh 10-7 9.75
15|Uwtnisupjut Upghonh Gughlh 11-1 36M (9,5 |l
16(Fnynunupyut Lhw Gunph 11-2 201
17|Uwudninjut ‘Lupkl (kntunnwudh 11-6 10.5(111
18|£tohojuts Uwhhwn Zndubithh 11-6 8.25
19| Mnnnujut Ypkd djunhdhph 11-6 12.25]1l1
20| Udhppwmiymt  Lwpkl Updkup 12-5 151














































